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59 J97-97 4 35 397 & | @ ye7 1fAard & |
T8 Y9797 Giel U1 # [AyifGd 8- &, &, T, 90 & |

GUE & 7 J97 G 1 & 18 % Tglaehedid (MCQ) R & Uh-Uh 3 & J97 & |
GUE & 97 &7 19 T 25 % 377 TG-ITIT (VSA) THR & §1-31 371 & Fo7
&/

GUE T 5 97 G&IT 26 @ 30 7% TY-IF0T (SA) IR & diA-did 35 & J97 8 |

@UT T J97 &7 31 G 33 T -3 (LA) YR & Gia-gie 3+l & T & |
GUE T § 97 &7 34 TIT 35 HH-3TERT TR-TR 371 & Jo7 & |

J97-97 § GHY [aheq 787 1397 77 8 | TeIf9, @vs @ & 2 Y991 4, GUS 7T & 2 oI
H, GUS 7 % 3 o 4 aq @S & & 2 Yo 7 AR [aHcT T JIEe 177 7T

g1
dopeict & ITIT dfedd 8 |
Yifass 3] & HEicEd qm, SavTsal 37ar ITT & :
c=3x10%m/s
h=6-63x1073*Js
e=16x10"17C
Up=4nx 107" Tm A~

gy =8-854 x 10712 C2 N1 m=2
1

4
me

=9x10° N m?2 C2

gL 1 GoIHM (my) = 9-1 x 103 kg

=IZH 1 geIHH = 1-675 x 10727 kg

T bl geIqqH = 1-673 x 10727 kg
JTENTIET T&AT = 6-023 x 1023 gfeq I W (per gram mole)

SleaHH Hadmeh = 1-38 x 10723 JK 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

55/1/3

This question paper contains 35 questions. All questions are compulsory.

This question paper is divided into five Sections - A, B, C, D and E.

In Section A - Questions no. 1 to 18 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 19 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C - Questions no. 26 to 30 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D — Questions no. 31 to 33 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E — Questions no. 34 and 35 are case-based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 3 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

Use the following values of physical constants, if required :
c=3x108m/s
h =663 x 10734 Js
e=16x10"19C
Uy = 47 x 107" Tm AL
gy =8-854 x 10712 C? N1 m~2
1

47580

Mass of electron (m,) = 9-1 x 10731 kg

=9x10° N m?2 C2

Mass of neutron = 1-675 x 10727 kg
Mass of proton = 1-673 X 1027 kg
Avogadro’s number = 6-023 x 1023 per gram mole
Boltzmann constant = 1-38 x 10723 JK~!
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n-JHR % Sih FA-HUE NG H, = ovg hl qedl Eg 3R a1 1 &1 Ep
o o9 3 Hl i Bl @

(@) 10eV (b) 1eV

(c) 0-1eV (d  0:01eV

fopdll u1g % IR, F9Ehl STEI-FR H &% (A) T R ¥ g & 7
i 5 w1 2, @ g wrlt g varfed & W R | A’ S e & §9 ° g
TSI o IYETE ST (v,;) o TRHATIT i AT T Fehell @ :

vd vd va ¢ vd
‘K ‘ \ ‘/
A A
(a) (b)

A A
(c) (d)

AleeS &1 his ac @id aoff ° fordt p-n @fer e ok e gfdas @ wifsa
? | e gfauy o a0 w ot dieear & fow @&t fasheq gnm

Vl/\ Vl/\/\/\
(a) (b)
N\, :
NG/ i
V ‘V A
(c) ]/\ /\ (d)
t'}

BIESIS YY) STTt TRIEeh fregaw otawen & fopell wielq =t rasifya star 8
S 38 n =5 T dh IS HL <l & | 39 BISH hl qUIeed § :

(a) 975 nm (b) 740 nm

(c) 523 nm (d) 95nm

¢
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SECTION A

In the energy-band diagram of n-type Si, the gap between the bottom of
the conduction band E¢ and the donor energy level Ey is of the order of :
(a) 10eV (b) 1eV

(c) 01leV (d 0-01eV

A steady current flows through a metallic wire whose area of
cross-section (A) increases continuously from one end of the wire to the
other. The magnitude of drift velocity (v,) of the free electrons as a
function of ‘A’ can be shown by :

v vq vq 4 V4
N /
A
(b)

A A A
) (c) (d)

(a

An ac source of voltage is connected in series with a p-n junction diode
and a load resistor. The correct option for output voltage across load
resistance will be :

Vl/\ \Y
(a) (b)
N\, R
Y t
V V A
(c) ]/\ /\ (d)
t>

Hydrogen atom initially in the ground state, absorbs a photon which
excites it to n = 5 level. The wavelength of the photon is :

(a) 975 nm (b) 740 nm
(c) 523 nm (d) 95 nm

oy

1

Page 5 of 27 P.T.O.



“®collegebatch con

[ 5

-

=
5. Tl gutfia i el @ 6 gk |, gamia 1 ufgewen & S 30
ﬁﬂﬁw@?ﬁ%

dog 1 dég
dog 1 dog
s dt @ g, dt

0

TEl Tdlohi o FHT 319 & |

6.  Torelt wamT #H, foRet 4Tg % I58 W 7-5 eV Holl o B AUaT & 3 | 39
47q Y58 H IcHISId STFGHI hl UTq h HIUG — 4-5 Voh a9 o fohdll Saioels
SR Ush feam et B | arg 1 1 %o 7

(a) 30eV (b) 45eV

(c) 75 eV (d) 12:0eV

7.  HIs JATHR FHUSHl forehl BISAT 8:0 cm B AT TEH 40 W 7, I FEATHR
g % afd: 22 e it deve B FliE I F 30 x 1072 T AR FH
T

fopet TehtmT &fo grechia & | Ui o W 3 | 39 Fusel! ° Ufa eafespan
fa.ar. 9 (emf) B :

(a) 012V (b) 015V

(c) 0-19V d 022V

8. QI TATIYehI hl GEIWH TEATRA 1 STAT 8: 17 | ok AN Tfcal o1 AT
R
(@ 8:1 (b) 4:1
() 2:1 d 1:1
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5. In the process of charging of a capacitor, the current produced between
the plates of the capacitor is :
do 1 d¢
(a)  py—= (b) — &
dt Ko dt
do 1 do
© gg—E @ ——k
0 at g, dt
where symbols have their usual meanings.
6. In an experiment, photons of energy 7-5 eV are incident on a metal

surface. Electrons emitted from the metal surface are stopped by an
electrode at a potential of — 4-5 V w.r.t. the metal. The work function of

the metal is :

(a) 30eV (b) 45eV
(c) 7-5 eV (d 12:0eV
7. A circular coil of radius 8:0 cm and 40 turns is rotated about its vertical

diameter with an angular speed of 25 rad s~! in a uniform horizontal
T

magnetic field of magnitude 3-0 x 1072 T. The maximum emf induced in

the coil is :
(a) 0-12V (b) 0-15V
(c) 0-19V (d) 0-22V
8. Two nuclei have their mass numbers in the ratio of 8 : 1. The ratio of

their nuclear densities is :
(a) 8:1 (b)) 4:1
() 2:1 d 1:1
55/1/3 Page 7 of 27 P.T.O.
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9. Torelt &g Torpa foya o o1 W 36® v 3t W feuq =g fomg ot F wel &l
AT A g | A AW H gl 2r 3, Al &N g HAIWE R I are
W@TIT:

(a) E (b) E)
16 8

(c) E (d) E
4 2

10. e =mores O gfd Tehvs Yafed soiee@l hi T&AT 3-3 x 1019 % | 30 = °

EIHT%H g % :
(a) 2:0A (b) 34 A
(c) 4-8 A (d 53A

11. < Torelt 91 td=mcres ol forell BEaist oIl 1 3teq 7 € e foham S
g, ql :

(a) 391 SfaUy ¢ SaT 3 |

(b) B p-YhR I ALATTH & T 2 |
(c) 3| AT H Uk Soiae faadi (81d) ¥ 31fere g ¢ |
(d) Heeh (MUTHH) TTHTY] ST YLHT] &4 I & |

12. Tl ufigreshia qared i forelt B8 Traeh o ITR AUGT S0 ga & ke A
TR | g ugrY

(a) QI Yol g WfdehSd femam Sima |
(b) S gai grT SATehiNa feram ST@m |
(c) IR Yd GRI Sfciehltd e GfeTor g g SMTehivia feham ST |
(d) 3T g g ER{YA qT S ga gRT fdehia fohal ST |
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A point charge situated at a distance ‘1’ from a short electric dipole on its
%
axis, experiences a force F . If the distance of the charge is ‘2r’, the force

on the charge will be :

(a) E (b) E)
16 8

(c) E (d) E)
4 2

The number of electrons flowing through a conductor per second is

3-3 x 10%°. The current flowing through the conductor is :
(a) 20A (b) 34A
(c) 4-8 A d 53A

When an intrinsic semiconductor is doped with a small amount of

trivalent impurity, then :

(a)  its resistance increases.

(b) it becomes a p-type semiconductor.

(c) there will be more free electrons than holes in the semiconductor.

(d) dopant atoms become donor atoms.

A diamagnetic substance is brought near the north or south pole of a bar

magnet. It will be :

(a) repelled by both the poles.

(b)  attracted by both the poles.

(c) repelled by the north pole and attracted by the south pole.

(d)  attracted by the north pole and repelled by the south pole.

Page 9 of 27 P.T.O.
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13. T=foiRaa aredt o fopa Iar & fotw shifaes hivT o1 9 9&d %0 g1 ?
(a) i ¥ Y (b) = A
() B E A d ERITY
14. Trdl S5 gras o1 Tohell 91g o @hEat fafcivet § 38 SHeaial 378 & Ay
firren Sman @ | fRd g greres 1 coRor A
(@) A (b) g% S

(c) gHHA (d) g3 e

15. Torelt 97q o SR R o JfY (R) % I8 dR hl ST (r) o Be o &9
T el fommor sl w91t UT% hi9-01 8, Sefh dRf hl @Fars qAq1 a9 Had
T T g ?

R R R \ R
|L‘I' &I‘ |—)I' D)r
(a) (b) (c) (d)

Yo7 H&1 16 & 18 37f4#e7 (A) 3% BRYI (R) YR % Y97 & | & %o 137 7 & —
IS T ] STHIT (A) 9T G %1 BRI (R) GRT 3lbd [597 71 & | §& I 1
/2% T WIS (a), (b), (c) 3R (d) & & F7H G0 |

(a) AMMHAT (A) 3T RO (R) AT T&l & 3T HR (R), AMMRAT (A)
gl SIS hdT 2 |

(b)  SAfTHA (A) 3T SR (R) THI T&l &, T RV (R), AW (A) H
& SRS gt il g |

(c)  ATHAH (A) HEl B, =g BRI (R) TAd 7 |

(d) IHIT (A) TAd g 99T R (R) Ht Tid 2 |
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Which of the following pairs of media has the least value of critical

angle ?
(a) Glass to air (b) Glass to water
(¢) Diamond to water (d) Diamond to air

A bar magnet is dropped in a hollow metallic cylinder along its vertical
axis. The acceleration of the falling magnet will be :

(a)  zero (b) equaltog

(c) lessthan g (d) greaterthang

The correct graph showing the variation of the resistance (R) of a
cylindrical metal wire as a function of its radius (r), keeping its length

and temperature constant, is :

R R[ R[ \ R[\
) (b) (d)

(c)

(a

Questions number 16 to 18 are Assertion (A) and Reason (R) type questions. Two

statements are given — one labelled Assertion (A) and the other labelled Reason

(R). Select the correct answer from the codes (a), (b), (c) and (d) as given below.

55/1/3

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is also false.

Page 11 of 27 P.T.O.
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16.  377¥HIT (A) : THRI-IGT 9T Teh1= hi SHUTcHD Tehid ohl HERIA il 7 |

HRU(R):  <FA G & IAUh AGRAT o AT Feprr-faga g/ Amafad
fafeprort <At <feram & TwTaTd Bt B |

17. 397 (A) : & Thet iR 61 o8 *I forell STelt Jrashia &9 § W@ I R,
@ & W@ 30 B & ffaw difgd & ol § |

FRU(R): W Toh TR g9 8 |

18. 3T (A) : Torelt Ty o fohdl @ farrgatl o offe shoT=ar 3 BlaT @ |
HRU(R):  Tordl a0 % wvfl fog €10 8 &H gt W 2d 2 3R 36 TR

9 hedl § Sl id 3 |

Qs @

19. TrHl 3T A9 & HoAshi hl dshdl BISATE 20 em 3R 30 cm 3 | SHhl &THdT

%D% | @9 o hid BT YT 9T g ? 2

20. TYY H AT Hifve fh forft p-n GfY sTe ¥ foeror R 3vers gn| fog
yepR Uftrert fawa & fmfor § e et & | 2

21. T Qe HW H AT V= (3:0 x 105 m/s) 1 ¥ 3W & § vt fen T B
ol P gEFE 8T B = [(04T) i +(03T) ] feremm 2 | =8 &7 & &u
T ] qilehi?ddﬁﬁml?,fﬁ%mzx,yﬁtza&T%wﬁmw
Tfest 8 a1 Vel U7 o T AT 7R gea|™ 19T 4-8 x 107 C/kg 2 | 2

22, N Higd # gEei WA i fTan Tawe St —13-6 eV B | IS S
— 151 eV o Il T T — 34 eV o Holl TR W HshAT HdT & | Icdroid
TergHl 1@ sl qUICE TTehictd HIfT | 2
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16. Assertion (A) : Photoelectric effect demonstrates the particle nature of
light.

Reason (R): Photoelectric current is proportional to intensity of
incident radiation for frequencies more than the threshold

frequency.

17. Assertion (A) : When a bar of copper is placed in an external magnetic
field, the field lines get concentrated inside the bar.

Reason (R):  Copper is a paramagnetic substance.

18. Assertion (A) : The phase difference between any two points on a

wavefront is zero.

Reason (R):  All points on a wavefront are at the same distance from
the source and thus oscillate in the same phase.

SECTION B

19. The radii of curvature of the faces of a double-convex lens are 20 cm and

30 cm. Its power is % D. What is the refractive index of the glass of the

lens ? 2

20. Briefly explain how the diffusion and drift currents contribute to the
formation of potential barrier in a p-n junction diode. 2

A
21. An alpha particle is projected with velocity v = (3:0 x 105 m/s) i into a
- A A
region in which magnetic field B =[04T) 1 +(0:3T) j] exists.

A A AN
Calculate the acceleration of the particle in the region. i, j and k are

unit vectors along x, y and z axis respectively and charge to mass ratio

for alpha particle is 4-8 x 107 C/kg. 2

22. The ground state energy of hydrogen atom is —13:6 eV in Bohr model. An
electron makes a transition from an energy level of —1-51 eV to that of
—3:4 eV. Calculate the wavelength of the spectral line emitted. 2

55/1/3 Page 13 of 27 P.T.O.
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23. (&) zEw fagra &1 I weh et gude o &1 Tt @ wremm
9k HE A0 FHAA Y58 W YA G arer R i@ € |
S o T b =W 1 weE o Hifg | 2

AT

(@) 1uadl guaRish shl g1 H qUEd] glaRieh sl WATHhdl F1 & JTdl 2 ? &
TN ¢d FY A9 I ! gfee HifT | 2

24, ToRIa-graehE TaEH % IW W I IEATHT :

(%) N Torgd-grachia TiegH o gwd WN 6! (a9 ST § SFer §, a9

(@) < I Tl 9t Sl g UTd % Ied T SHE i W Icqe Bl

g |
$TH ¥ T I Teh-Ueh ITAN T | 2
25. (%) A 3R Fugaht sredareteht & o= fadegT Hifvw | 2

AT
(@) sufcles sE R gk sma d fFft pn @fy sfie & V-1
JATYATEITRT Bl HALIIT A o [0 GHUY =aeen ity | faferes
TS & V — I I1NcATetiotes 1 3Teig Yeiid hifay | 2

Qug

26. 15 uF 41 < fopel g |uTie ol fRel ac dicedl v = v sin ot (v, =310V
Al f = 50 Hz) 8 TAifod foram mam 8 | uftewfera hifse () gwnfa =1 wfdem,
YT (ii) 9T T AW | T9F & B & &9 § U & Yoz 91 & faw
ECARICL 3
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23. (a) Using Huygens’ principle, draw a ray diagram showing the
propagation of a plane wave refracting at a plane surface

separating two media. Also verify Snell’s law of refraction. 2

OR

(b) Why is a reflecting telescope preferred over a refracting telescope ?

Justify your answer giving two reasons. 2

24. Identify the part of electromagnetic spectrum which is :

(a) next to the lowest frequency end of the visible part of

electromagnetic spectrum, and

(b) produced by bombarding a metal target by high energy electrons.

Give one use of each of them. 2
25. (a) Differentiate between intrinsic and extrinsic semiconductors. 2
OR

(b) Draw the circuit arrangement for studying the V — I characteristics
of a p-n junction diode in forward bias and reverse bias. Show the

plot of V — I characteristic of a silicon diode. 2

SECTION C

26. An ac voltage v = v, sin ot (v, = 310 V and f = 50 Hz) is connected to a
pure capacitor of capacitance 15 pF. Calculate (i) the reactance of the
capacitor, and (ii) the amplitude of the current. Write the expression of

current through the capacitor as a function of time. 3

55/1/3 Page 15 of 27 P.T.O.
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27. (%) TESNA THEIY & folu ot TR oM@ EifEw | queT &, g9 & 3k
3TAh & <hl AMRN o deI&y Hshuvli sl 3ifehd HIFT | 3

AAAT
(@) fahm Theel & T goomm g & @0y 999 a1 Ifd YFastia &

foremor =61 e & foiw oM@ difew o sHeht @ femivaredi 1 Seo@
HITT | gooh AR B T AR a1 gidT @ ? 3

28. M fag AW Q, (-15 uC), Q, (10 uC) TAT Qg (16 pC) HH: (0 cm, O cm),
(Ocm,30m)3ﬁ'{ (4cm,3cm)‘T{f{3\9Rf§ | ﬂﬁ?ﬁ%gﬂﬁ?ﬂﬁﬁ?ﬂ'{ﬁ@ﬂ
fefas Sft gftefctd i | 3

29. (%) iy fopd Jepr Ufcemar & 9 B 2 U Bk TR ! wgrIar § fopelt
a'UﬁLCRWF{CIE’I,Gﬁwaﬁ?[v:vmsinmtﬁﬁﬁﬁ%,ﬁﬂﬁaTﬂT%
fTT =3sTeh gTed hifu | 3
HAUAT
(@) & v=v,sin ot, SEH o I qiEfda o ST @war g, 9 ST et
gt LCR U & TG o T 31 F1q hINT | 3 PRI 1 Ioci@

ity 9 W fReE gft LCR afty i oA g MR el & |
fereht 2ot LCR 9itay § STgfd & @1y foga g o fo=Ror &l g9 <6

o o difaw | 3
80. IS R 1-2 nm U] hl ¢ Fiicil 90T & 9dg & | 39 U I Tfas Sl Ir
TH & TE R | AT o AUIeE T AT TH Yiehierd HIfT | 3
Lus Y

31. (&) 1) (1) =Afaewr 9 3R faada Ted & g Q@ =R foflau |

2) I o feferd v # fopdl @ srent & 9m fofae fom =
bt =irers freie et 2 |
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(a) Draw the energy level diagram for hydrogen atom. Mark the
transitions corresponding to the series lying in the ultraviolet
region, visible region and infrared region. 3

OR

(b) Draw a diagram to show the variation of binding energy per
nucleon with mass number for different nuclei and mention its two

features. Why do lighter nuclei usually undergo nuclear fusion ? 3

Three point charges Q; (=15 pC), Qg (10 puC) and Qg (16 uC) are located
at (0 cm, 0 cm), (0 cm, 3 cm) and (4 cm, 3 cm) respectively. Calculate the

electrostatic potential energy of this system of charges. 3

(a) How does the resistance differ from impedance ? With the help of a
suitable phasor diagram, obtain an expression for impedance of a

series LCR circuit, connected to a source v = v, sin ot. 3
OR

(b)  Find the condition for resonance in a series LCR circuit connected
to a source v = v, sin ot, where o can be varied. Give the factors on
which the resonant frequency of a series LCR circuit depends. Plot
a graph showing the variation of electric current with frequency in

a series LCR circuit. 3

A particle is associated with a de Broglie wave of wavelength 1-2 nm. The
kinetic energy of the particle is made four times. Calculate the new value
of the wavelength of the wave. 3

SECTION D

(a) (1) (1) Write two points of difference between an interference

pattern and a diffraction pattern.

(2) Name any two factors on which the fringe width in a

Young’s double-slit experiment depends.

Page 17 of 27 P.T.O.



®2 collegebatch con

[ 5

-

[
(i) = < forel Tgferl s 2 foft o sfter goreh fefant & o
Tt JehTRT <hl FUIGE T 100 AT 7 |

(1) o 3Fass R frhead! 3fse & = ®IviiE goehd &1
Tt | qiteped ShifvT |

(2) fafel @ 50 cm g8t W fo9@ ¢ W 34 Q1 3f=sal & wew
gt uftepford =iy | 5

AT

(@) () hdl BSAT R 1 HI3 M I8 ny 3R n, AR H a
HIEAH] ! Th-GHL ¥ YUk AT & | n, eI o HIEIH H
i3 forgierd fore 38 I8 € gl u W @1 8 3N I8 gRI 36T
Tiifes n, TUEdTH % WL § Y8 ¥ v gl WS W@ R |
u AR v 9 qag Fead HINT |

(i) oM@ § WIT AAR 6:0 cm BT o Fhefl 3@ +a & Tl o
M % g C ¥ 3-0 cm G W IS Bl Iy hl FAGAT HET §HAT
2 | T o g1 1 e 1-58 | oy | fopet sell fag E W
Mo &l Tag § ¥ <@ W 38 Jagad h onuweht feyfa s
HIT | 5

3 cm
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(ii)) In Young’s double-slit experiment, the two slits are separated
by a distance equal to 100 times the wavelength of light that
passes through the slits. Calculate :

(1) the angular separation in radians between the central

maximum and the adjacent maximum.

(2) the distance between these two maxima on a screen
50 ecm from the slits. 5

OR

(b) () A spherical surface of radius of curvature R separates two
media of refractive indices n; and ny. A point object is placed
in front of the surface at distance u in medium of refractive
index ny and its image is formed by the surface at distance v,
in the medium of refractive index ng. Derive a relation

between u and v.

(i1) A solid glass sphere of radius 6-0 cm has a small air bubble
trapped at a distance 3-0 cm from its centre C as shown in the
figure. The refractive index of the material of the sphere is
1.5. Find the apparent position of this bubble when seen
through the surface of the sphere from an outside point E in

air. 5

3 cm
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32. (&) () TErRIgheh 4 Ham o o1 oo HIVT IR 38 @ a9 &

foru wfes v 1 fofEu |

() Te" frm gorm fem § wfffod gt % @1 % SYohHII W
ey 8 ° =amen Sl |

(i) G ST A (I q) TAT B (IMEY 2q) A 6537 (0, 0) 3TN
(a, a) W @@ g | A9 AT x-318 3R y-318 o A Thih
afw A i e ) § 11 o) % U § AW BW emife
I Fd I | 5

AT

(@) () 2agl % Y¥HA 1A & @A q IR — q % s Tpet faga foga
% ey gHad & forel fomg W forga & o foie =St =gou
it |

(i)  Toret forga foga o freff wmae W feuq ferdlt qre forg 1 gl
aeft ;G S 7 | 39 fgga & Torw fovpa & fopw weer wwnfem
&I 2

(iii) TR@ H MY AR FhEfl V2 m o1 & T ABCD & foeurt o

Idfew § voaw e feygg W & 1 @ ot & g (O) W
forega & =1 witmmor 3k fegm wrea AT | 5

+q —q
A

+q
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32. (a) (1) State Coulomb’s law in electrostatics and write it in vector

form, for two charges.

(i1)) ‘Gauss’s law is based on the inverse-square dependence on

distance contained in the Coulomb’s law.” Explain.

(iii) Two charges A (charge q) and B (charge 2q) are located at
A A
points (0, 0) and (a, a) respectively. Let i and j be the unit

vectors along x-axis and y-axis respectively. Find the force

A A
exerted by A on B, in terms of i and j. 5

OR

(b) () Derive an expression for the electric field at a point on the
equatorial plane of an electric dipole consisting of charges q

and — q separated by a distance 2a.

(ii) The distance of a far off point on the equatorial plane of an
electric dipole is halved. How will the electric field be affected
for the dipole ?

(iii) Two identical electric dipoles are placed along the diagonals of
a square ABCD of side +/2 m as shown in the figure. Obtain
the magnitude and direction of the net electric field at the

centre (O) of the square. 5
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33. (%) () Torelt amaEmEl ta¥a & HRU FrEh & & fore srE-gEd fem
fafaw | 38 fm &1 ST ek B @’ o foRsEft gamRR U,
@ g T yarfed & @ R, F Fg W T &7 & oI g
Sk I <hifore | fepeft amr ursr & fofu grerehiar & <t feom =t
3T hLd g Frechi &3 W@ Sy |

(i) IS gorae forelt TTfireh 1 gaTehR el § 107 m s—1 1 =1a
AT T T 8 | Ife ke H B 10010 m 7, O e |
YTGRAT A a1l S g Icqd & JTd <hIfY | 5

AT

@) () ek &F o feya fopelt grarEl g 9 W SR 99 %
foTu. =Ieteh Fodd ST | 38 f7m &1 3eor@ Hhifvie A1 39 5
i feum =1 Fegifia & @ e 3w foren S 2 | 98 I g
s 3Taild 98 o1 (1) Aferehad, 3R (2) Fetaq g 2 |

(i) o o HY AR R A 3R B 91 H THGH H 25 cm 3 W
g | 3 I § fouwlia foemett # wwe: 5:0 A R 25 A gW¢
JaTfEd & W 8 | IR BT 10 cm TS W AR A gRT STRITUT o
1 IRETI gfEhfad T | 5
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33. (a) () State Biot-Savart’s law for the magnetic field due to a current
carrying element. Use this law to obtain an expression for the
magnetic field at the centre of a circular loop of radius ‘a’ and
carrying a current ‘I’. Draw the magnetic field lines for a

current loop indicating the direction of magnetic field.

(i1) An electron is revolving around the nucleus in a circular orbit
with a speed of 107 m s~1. If the radius of the orbit is 1071° m,
find the current constituted by the revolving electron in the

orbit. 5

OR

(b) (i) Derive an expression for the force acting on a current carrying
straight conductor kept in a magnetic field. State the rule
which is used to find the direction of this force. Give the
condition under which this force is (1) maximum, and

(2) minimum.

(ii) Two long parallel straight wires A and B are 2-5 cm apart in
air. They carry 50 A and 2.5 A currents respectively in
opposite directions. Calculate the magnitude of the force

exerted by wire A on a 10 cm length of wire B. 5
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a . b . ¢
v
1 Ry =50 Q
E=60V

d

§R1:IOQ
r=10Q0Q e
h g f

I9Yh o IR W F=fafad w1 o I T

(%) 3@ uftuy § HH-Y fog Tue fava w & 2 ;

(@) 9o bg ¥ ury fohaft 2 2 ;

() uferiE Ry % Tl femam fersreman 2 2 ,
AT

()  wfey Ry # Wtk & foham 2 2 \
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SECTION E

34. The following figure shows a circuit diagram. We can find the currents

through and potential differences across different resistors using

Kirchhoff’s rules.
a . b c
v
1 R2 = 50 Q
E=60V
d
§ Rl - ].O Q
r=10Q €
h g f

Answer the following questions based on the above :

(a) Which points are at the same potential in the circuit ? 1

(b) What is the current through arm bg ? 1

(c) Find the potential difference across resistance Rg. 2
OR

(c) What is the power dissipated in resistance Ro ? 2
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35. TIEM 23e4e U GUH SHEES 3 S HigeE H 9™ I arel YTl
QA 8 | 39T ST ER % foseu & ®9 B TR ST B ORAifR SHeR
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hifeh IV & T SR 2 | 398 &R < aff 707 gd 8 | I8 d T IS
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60°

B C

3T < IR W FfaRad sl o I ST

(%) 39 TR ToRL0T T 39 TS € TORd BT 99 ARfEd i | 1
(@) Torom o geprer o1 a7 31a HIfST | 1
(M) Ul STATeR TEE o Gl TN <hl Had § SAReT SHifT | 2
HAYAT
(T)  TeRTST % YUT ST=ATeh quEd i GRS faifgw | 396 8 o 7T @ ord
ERIER 2
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35. Strontium titanate is a rare oxide — a natural mineral found in Siberia.
It is used as a substitute for diamond because its refractive index and
critical angle are 2-41 and 24-5°, respectively, which are approximately
equal to the refractive index and critical angle of diamond. It has all the
properties of diamond. Even an expert jeweller is unable to differentiate
between diamond and strontium titanate. A ray of light is incident
normally on one face of an equilateral triangular prism ABC made of

strontium titanate.

60°

Answer the following questions based on the above :

(a) Trace the path of the ray showing its passage through the prism. 1

(b) Find the velocity of light through the prism. 1

(c) Briefly explain two applications of total internal reflection. 2
OR

(c) Define total internal reflection of light. Give two conditions for it. 2
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